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[No. @ F K4 21 22 23 24 25 26 27 28 29 JEfI|

& H Tango

60  FR AR 4 3 1 6 3 1 4 3 5 4.0
61 | EE A 1 5 2 4 4 2 2 2 4 2.0
62 Mg FELT 5 1 3 2 6 6 6 1 1 3.0
63 ¥ &K 2 4 5 3 1 5 5 5 3 5.0
64  KJII IEYE 6 6 6 5 5 3 3 6 6 6.0
65  {EH 2 3 2 4 1 2 4 1 4 2 1.0
A B R

No. ®F K4 T T plAe

60 | FR AR 4 4.0 4.0

61 | EE AR 2 2.0 2.0

62 Mg FELT 3 3.0 3.0

63 T SN 5 5.0 5.0

64  KJII IEJE 6 6.0 6.0

65  {EH 2 1 1.0 1.0
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2 % =mRREE
H £ 2018/09/17 [N y=7 248 =8-CDi#k T--BHi-

HTEE BEES | & ®= P K4 N—|h— 7 R FTEE RE T
60 13003840 C  FH WIB Pay NN S RS N AT 4.0
61 13001411 C & A4 et iglssh RS —HEIR RNA 2.0
62 13003815 = C = B [&1T A= an H TR 55 3\ 3.0
63 13003762 @ C @ f@EE &K FAE B HRE 2 I - AThA 5.0
64 13003298 C = KJII IEX BH 4T FR HERT & HoNr 6.0
65 13004109 D &M@ fEE Vel EET RS =y LA 1.0
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